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5100 2Z S22t A3 RLNH 13,092,427 10,709,729 2,382,698 11.6([4100 2SS 22N RE 12,352,199 9,856,785 2,495,414 10.9
5200 RZ &S =0t A3 RYNH 56,979,532 49,760,044 7,219,488 50.5|[4200 2EES2ZIstN=RE 47,971,721 45,010,652 2,961,069 42.5
5300 RZES 203 YN 13,070 0 13,070 0.0[|4500 2HE SIS RE 5,755,114 4,514,478 1,240,636 5.1
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4700 D122l Xt= 37,638,957 31,430,068 6,208,889 33.3
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ﬁl g ﬂl‘ E = 2o AFOH = AFOH %%’L%
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2) BHUUHKSEAZ LA (ARHI) 49,664,000
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1) ASENSHEEAMEMNI| s AR HME (D22 H]) 10,000,000
o 1. A7 RULAGH M E 6,000,000
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o JIAHDIRFS-DIE -5,000,000
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o JIHJIHS-DIE -1,000,000
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o JIAHDIF F¢ 8,000,000
10) AFEIIHIDI R F SHI(AHEHH]) 7,300,000
0 328 EHESPC L IIBE PYUS Ao FIt i (At 12,300,000
o APSHHAEH HRE MAD|I| 7 -3,500,000
o JIEL JIAHDIZ ¢ -1,500,000
4. prEtgE 200,000,000
1) A HAHIAL (H 1) 200,000,000
0 2SR AHT DHAIDA J1H DRI 100,000,000
o JIADIRFS-4EEH 100,000,000
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o JIADIRFHS-MS NS -5,000,000
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0 (HE)2A27 HAM-XIESLH JIHI 72 10,000,000

o0 AN RHS-XF AL
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o JIJl FYE A 40,000,000
o JIADIRF I (1) -23,000,000




0
[

=

Jo

z
[1A]
ry

H

40

o JIAHIIRHSE &

2= 0fl at o =2 0] &k o8 o 2
B el =
3) SAIE O AFDFSERE 2 AF BH(S 2H]) —-24,000,000
o JI A7 I -6,000,000
o JIATRLHI —-18,000,000
4) HEENSUHESLAME M) sd S HAHE (S 2]) 39,612,000
01.3XEE &M =Z gt 39,612,000
5) 5| 2AY-STARA SH(S 2 HI) -50,000,000
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02XHEE 0123 (=35 2AZEQ0) 19,627,000
o 7O BXtol [HE &M LM M= -3,137,000
5) HuStarS At S A IS AL SHUT S K E) 8,410,000
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HE s =24 oM
o = = FZ0l A (A) 20l A (B) (A-B) &M E 2 ) (293
5) AQIAZ X & AIE (A 2H]) -1,000,000
o) -1,000,000
1240 LEIAMFHS 437,000 437,000 0
NS
1241 XA A 437,000 437,000 0
FHE
2200 MRegse=z 72,797 100,000 -27,203
QISIAIZ2RENH
2210 2ol &t st 72,797 100,000 -27,203
2211 dUHESEZ 72,797 100,000 -27,203|1. SHESSAZ AN -27,203,000
o2t Aok
1) E532(AHdI) -27,203,000
o EDJ|IY JdUHES=2 &2 -27,203,000
4700 D122l X2 37,638,957 31,430,068 6,208,889
4710 D122 X2 37,638,957 31,430,068 6,208,889
4711 129 X2 37,638,957 31,430,068 6,208,889 (1. 2122 Xt= 6,208,889,000
1) JILXSOILR2) 6,208,889,000
o JlZe 13 6,208,889,000
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